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[Fritsch and Wattenhofer, AAMAS’22]
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Wh at Wa S Kn ow We swapped summations in the second step and substituted y =

LEmMMA A.1. Forl=0,...,t,

! t
(2k - t)sk,/ = l(
k=[t/2]

Proor. Let

f

k=[t/2]

Note that we use the convention that () = 0 for k > nand k < 0. !}
Hence, the upper summation bound in the formula for s ; from

Lemma 4.4 can be omitted. Inserting this formula yields

t o0

= ),

k=[t/2] x=[(k+l-|t/2])/2
)2x—l+|_t/2J

x=[(l+1)/2] i

2
x=[(lF1)/2] &

k=[t/2]
t—1-([t/2]-x)

y=[t/2]-x

t—1
2y + 2x — t).
(y)(y+x )

k — x in the third step. Note that

l t—1
(2y+2x—t)+( ){2([—1—y)+2x—t):2( )(2.\'—1).

k=l=y,
Using this we further conclude
o o x—l+[t/2]
1* t—1
S ()75 o
) X k y
x=[(I+1)/2]1 Y/ y=[t/2]-x * ~
‘/EJ o0

() il

y=[t/2]-1 x=max([t/2]-y,y+l-|t/2])

In the second step, we switched the summation again. Now let
xo = max([t/2] —y,y+1—[t/2]). Then

o0 oo

5, (s S -0

X=Xp X=Xp
T R 1 W {1 =%
S
d \x-—1 X x0— 1
X=Xp ,

Furthermore, the definition of x implies

(Lt/l2_J 1— y) 3 (y +11: flt/ZI) B (_.\{o——ll)’

With the previous two properties, we establish

L¢/2]
t—1 -1
(1) = !
-1

2=l 2 )= i)

Here we substituted z = [t/2] — y, and the last step follows from

the well-known combinatorial identity (Z) =D ('i)(z::—). O
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